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QUESTION 1

Which two statements are true about scripts? (Choose two.) 

A. A script can be associated with a multi-instance task. 

B. Business analysis capability is required to enter JavaScript to a Script task 

C. It is possible to highlight all tasks that contain scripts in a process. 

D. A script can be executed on a Start Timer Event. 

Correct Answer: BD 

 

 

QUESTION 2

Click the Exhibit button. 

Which two statements are true when using an Inclusive Decision / Merge (OR) Gateway with one incoming and multiple
outgoing paths? (Choose two.) 

A. The default path is always processed, along with any of the other output paths that evaluate to "true." 

B. The default path is only processed if all other output paths evaluate to "false." 

C. If several paths evaluate to "true." only the first to evaluate to \\'true" is processed. 

D. If several paths evaluate to "true." all are processed. 

E. If several paths evaluate to "true." only the lowest-numbered path is processed. 

Correct Answer: AE 

 

 

QUESTION 3

Which statement is true about deploying and starting an updated version of a process? 

A. Two independent versions of the process will now be available for the user to choose to run against. 

B. All of the existing process instances regardless of state will be migrated to the new version. 

C. Only the latest version of the process will continue to run as the older version of the process will be auto-deprecated. 
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D. Some process instances may be migrated to the newer process version depending on the state of the process
instances. 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 

In the Organization Model shown in the graphic, the Operations Account Opening Team must be able to reallocate work
to other resources. Privilege opReallocateWorkPrivilege has been created. The System task "Work Item Allocation"
exists at both Organization Unit and Organization Model levels. 

What must be done to make it possible for the team to reallocate work to other resources? (Choose two.) 

A. The privilege must be assigned to the Organization Unit. 

B. The privilege must be associated with the System task for this Organization Unit. 

C. The privilege must be associated with the System task for the Organization Model. 

D. The privilege must be assigned to the Organization Model. 

Correct Answer: AB 

 

 

QUESTION 5

Which two statements are true about Organization Models? (Choose two.) 

A. They can be configured against multiple LDAPs. 
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B. They cannot be deployed independently of BPM applications. 

C. They are optional if the BPM application is fully automated. 

D. They can be shared by multiple BPM applications. 

Correct Answer: BC 
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